ERdAH->F L E Un ATFVUAH SUS
R BRFEEEAI | ARE(AE | #AER R BRFEEEA | ARE(AE | #AEA ¥ iR BRSEEENT | AR | NEA
& £ (mm) 1)\FE (1) &al) | X9 #Zx £ (mm) 1)\FE (1) &al) | X9 & £ (mm) J\FE (18) (CHDEES:)
M5X8 1000 Bl ® M6X10 600 Bl ® M5X16 500 ml ®
M5X10 900 Bl ® M6X16 450 Bl ® M5X20 500 Bl ®
M5X12 800 m| ® M6X20 350 m| ® M62X20 200 [l ®
M5X16 700 Bl ® M6X25 500 Bl ® M6X25 200 Bl ®
M5X20 500 Bl ® M6X30 400 Bl ® M6X30 200 Bl ®
M5X30 500 Bl ® M6X35 300 Bl ® M6X35 200 [\l ®
= =
AN PaddN
EXdiaH->FLE Un BrlgEinh>EF L E Zn ATFVUAE SUS
R BRFTEEA | ARE(EAE | HNER ¥ %R BRSEEEfT | AR | WHA i #5 ARSEEENT | AR | WER
7 1)\FE (18) &) | X9 7 /)\FE (18) #Rl) | X9 7 J)\FE (18) &Rl | X9
M5 1500 [l ® M8 600 Al ® M5 1000 [l ®
M6 1500 Bl ® Ww3/8 300 Al ® M6 1500 Al ®
M8 600 [ ® Wwi1/2 150 Al ® M8 600 [l ®
M10 300 Al ® W5/8 80 Al — W3/8 300 [l ®
w3/8 300 B ® wW1/2 150 Bl ®
W1/2 150 Bl ® W5/8 80 Bl ®
W5/8 80 [l ®
I5VIf1E g j— W |~

BEXEINH>EHEE Un

ATV AE SUS

W F5 | BRSEERMU | AEAE(EAE | HiEH W AR | BREERI | ARAE(EAE | #AEA
([ BADUE) | (R | X9 ® |[®AL{E) | @®HE) | o
M6 50 & M6 50 &}
M8 50 & M8 50 &)

¥OMIMEELEBR AMNEZIEER O THABS @Rt Y2—1EER - ¥ (Un) ~12704y%, (8Un) - =fi1=o7Axy*, (Zn) - BRERDHZ, (SUS) - Z7L-X(SUS304)

MINAMI ELECTRIC CO.LTA.

BN

a5



